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e Please check that this question paper contains 8 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o Please check that this question paper contains 30 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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Time allowed : 3 hours Maximum Marks : 90
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(i) 1 37% 7 571 & 3K ek IIeg & U qTFT T 51 |
(i) 8 3Pl a1 F¥I & I 50 - 75 =51 @ &1 |

(iii) 4-5 3% arct Fo1 & IT TTHT 150 Jeg] & &1 |
(iv) 6 3Pl 917 JF1 & JT TTHT 200 5] 3 &1 |

() T T F GH T Gr-arg & 57 B |/

General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one
sentence.

(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.
(iii)) Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. SUHIRET 1 Teh ARIHR 8 T ITH BT qAT Sa-T=d Teh 3T AT ITHIRT
ECRECINE
37k Ifgfaa ‘erferem | IuMIchT i forll ThR & FH hi TTawehdT 7, g
T | 1

‘The consumer has a right to acquire knowledge and to be a well informed
consumer throughout life.’

State what type of knowledge is required by the consumer in the above
stated ‘Right’.

2. " YR & It W ISI g &1 = fopam Siram @ 2 1
On which type of products is ISI mark used ?
3.  femor 1 ufskan O ‘stvare g Yee @ R SR B 2 1

What is meant by ‘Management by Exception’ in the process of
controlling ?

4. IO WicaTET & 9§ ‘HHER UgEH % his ¢l 3¢8 ST | 1

Give any two examples of ‘Employee Recognition’ as a non-financial
incentive.
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now does airecting initiate action ? State.

6. Tighmerto fohm yopr =il 6 w1 G Td A9a § U1 Ll 3 ? 3g@
HIT | 1

How does staffing improve job satisfaction and morale of employees ?
State.

7. ‘3Y=Ties Gied’ § o YU B ? 1

What is meant by ‘formal organisation’ ?

8. AT % YR W hRITcHS e 9T T 8T § =X HIfT | 1

Distinguish between functional structure and divisional structure on the
basis of ‘formation’.

9. IS % 35 YR T 9 Fd8Y S AHT HHl & €9 H Bl 7, fOE @
T fofsre fesm <t o Fefia ot 8 o e ameneti & gmy™ | 8l
LA B 1

Name the type of plan which is in the form of general statements, that
guides thinking towards a particular direction and helps in solving
routine problems.

10. ‘gt ¥ ¥g FAfTey wEr foh R KT 3 A1 hH KT 8 YEY & SURAT HAT
T8 TH 2 I’ 38w H A FATET | 1

‘Deciding in advance what to do and how to do is one of the basic
management functions.” Give the meaning of this function.

11. I8 T gl JAdT & o SATIHTReh Y=ieawul 3T iT=rd g1 & ? 1

Why is it said that business environment is uncertain ?

12. Y99 % 39 T k1 A ST ST FST o hed0 U9 Hatar o fou Iaeert
BT g | 1

Name the level of management that is responsible for the welfare and
survival of the organisation.
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Hd ANUG Th a9 Dl ed & || foquHehdl gra S0 H o8 T8 qEIN0y
qhoh bl UGHTHT | 9 TFEYNU] qehdleh <hl fehral o fomwaredi =1 ot 3g@
HIT | 3

“You don’t close a sale, you open a relationship, if you want to build a

long-term successful enterprise.’ Identify the communication tool used by
the marketer. State any two features of this communication tool.

14. gl SI9R o FfaRaa Jusi 1 319 Saqrse 3
(i) o¥ SN 99, 91
(i) femEfy g |
Give the meaning of the following money market instruments :
1) Treasury Bill; and
(ii))  Call Money.

15. ‘T Foi wa ‘arre foi 6 319 S | 3

Give the meaning of ‘Investment decision’ and ‘Dividend decision’.

16. fociia geia o1 mafies 32w ‘o ol STfUends ET 3 | 99EET | 3

‘Wealth-maximisation’ is the primary objective of financial management.
Explain.

17. TAIESH BISAl U9 BIeSll o JAMT ol H i & T ool foafiads qu- wusi
T HI3l Ud Bicel §HT W@l 2 | 39 T 37814 UT8 o UH Tial & AN bl hH
W T1geh TohaT STET 98d A HM o FTEL ITTe & | Th HHAN] gUW 4 AR
1 HH HE hl Teh AT hl TRGT §9T5 199 IcqTed Ja=eeh J Tff<d Ta!
fram | T SR wHE 3 feid # gur & ol 39 gare fou afer 3careq

e gRT SEeh! W T Tat i T |
(a) TRk =g  afvfa ey & g 1 3g@ Hif |
(b) UH 2 el Dl TEENT S HE AT 1 TR T =T 2 | 3
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nearby villages where very less job opportunities are available. An
employee, Harish, designed a plan for the cost reduction but it was not
welcomed by the production manager. Another employee gave some
suggestion for improvement in design, but it was also not appreciated by
the production manager.

(a)  State the principle of management described in the above para.

(b)  Identify any two values that the company wants to communicate to
the society.

18. U Y U% U faifies # Scuted Ysueh o ®9 H ¥ R Wl 8 Sl H T A
god S T H HAT & | Ta-Hehi o HHATE] & = Jal s 91 9 T3l 3 |
%1 s W Fgd &1 =BT 8 | FFT FcAh AW IHd @ 7 | A
Hft o AR Te=gh AT BT SCaR HUATT o 1Y L @ & FAeh 3T
foama 2 for swufenfal i wyfyg & fomm ot S wfy o o o 78 =
ehdl |

(a) STRH =g § aftfd ey o fagra &1 3g@ iV |
(b) Toredl <1 Ueal <l TEATHT S O TH Bl AT T ATEd 8 | 3

Pawan is working as a ‘Production Manager’ in CFL Ltd. engaged in
manufacturing of CFL bulbs. There is no class-conflict between the
management and workers. The working conditions are very good. The
company is earning huge profits. As a policy matter, management is
sharing the gains with the workers because they believe that prosperity
of the company cannot exist for a long time without the prosperity of the
employees.

(a)  State the principle of management described in the above para.

(b)  Identify any two values which the company wants to communicate
to the society.

19. ‘T § F1 AMNIR g ? Th T o [T 0 1 Hgw@qul & ? 993isy | 4
What is meant by ‘coordination’ ? Explain why coordination is important
in an organisation.

20. ISR YT <hl fohal IR foriwdradi <1 aui hifg | 4

Explain any four features of business environment.
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‘Process of planning involves certain logical steps.” Explain the first four
steps of this process.

22. Tgl 9w fagati & weEd € 3fghaa i i & saaam o g 3udRm
TREIUT AR AT AT A6 3 | 4

State with the help of any four points why it is important for a business
to lay emphasis on consumer protection.

23. Wl & 3TN @Al o HEwd ol 3T hiT | 5

State the importance of the internal sources of recruitment.

24. T yfsean ° fafga fafis =won == 9@y | 5

Explain the various steps involved in the process of control.

25. ISt AR @ w0 A 2 2 4t SR % g1 YRRI 1 AW a5 el @n
TG T I 3G HIT | 5

What is meant by ‘Capital Market’ ? Name the two types of capital
market and differentiate between the two on any four basis.

26. Toawur WieAy & WISl IATfd HA el el T 3ZT@ HiT | 5

State the factors determining the choice of channels of distribution.

27.  ICUTGI AT TSI o T W S HUh  hl YHRT T FUM hITT | 6
AT
fouue i o =R FE@qel awi ol GHEST, |

Describe the role of ‘Public Relations’ in the promotion of products and
services.

OR

Explain the four important elements of marketing mix.
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AN e NERC AN PANN | % 6
i)  gg1 Thifd;
(i)  =ITaETReh <sh;

(iii)  fqeaet 1 &L, qen
(iv) SIgE™ i Thhd |

YT

Teh HFIHT I Yol BT o = I TWIfAd R aTel foheal oK ShIehi ol
HHATRU |

Explain how the following factors affect the working capital requirements
of a business :

(1) Inflation;
(i1)  Business cycle;
(iii) Level of competition; and

(iv)  Nature of business.

OR

Explain any four factors affecting the choice of capital structure of a
company.

29, ‘gurdt yaY AT ‘HH=ET 1 O & Afaih, Tawer e i fafiw alen
T HEEA Hdl & | U fohegl =R adiet @1 avfa Shifs | 6
Jrera
“TrehgIehtul Teh WETIQUl WAl B Q1 had =gl AUHR o A0 H &
TS ST @ | 38 HA o HeH H Taohraioht0l o HEwd o [ohral o) (og3Tl I
Ui HifsT |

Besides ‘Effective management’ and ‘Employee development’ delegation
helps the organisation in different ways. Explain any four such ways.

OR

‘Decentralisation is an important philosophy that implies selective
dispersal of authority.” In the light of this statement, explain any four

points of importance of decentralisation.
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Sam @ aeel o HTY JST I 8 Tk 31 YR 1 (Had TR T HE
H @ HEANE b 1Y DIy TI& T 8l aial |’ 39 AT o Ged H Th
TRId&Teh o fehegl I 1 1 9UMH hifoTY | 6
HAYAT

JTet U hl AfRITd STl ki 9uiH HifSu |

‘The functions and performance of the supervisor are vital to an
organisation because he is directly related with the workers whereas
other managers have no direct touch with bottom level workers.” In the
light of this statement, explain any four functions of a supervisor.

OR

Describe personal barriers to effective communication.
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